OMC Scan before OFI move on 6th June, 10 W lock. zoomed at carrier + 20, HWHM = 0.40000 MHz
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Max = 4.96835 mA
Peak frequency = 149.13203 MHz
Two lorentzian fit
Center freq 1 [MHz] = 149.04626
Amp 1 [mA] = 2.89039

---- Center freq 2 [MHz] = 149.26057
Amp 2 [mA] = 2.59683
Hwhm [MHz] = 0.31388
Dark Offset [mA] = 0.01825
Two lorentzian guess
Center freq 1 [MHz] = 149.13203
Amp 1 [mA] = 1.00000

---- Center freq 2 [MHz] = 149.63203
Amp 2 [mA] = 0.50000
Hwhm [MHz] = 0.40000
Dark Offset [mA] = 0.01422
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